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Choose the correct option for the following questions. 1x15=15

1. The kinetic frictional force developed between two surfaces depends on —
a. The area of contact of two surfaces
b. The relative velocity between them
c. The normal reaction acting in the contact surface
d. All of the above
Ans: c. The normal reaction acting in the contact surface
2. For two specific bodies, the constant factor is —
a. The static frictional force
b. The kinetic frictional force
c. Both
d. None
Ans: b. The kinetic frictional force
3. Frictional force is present , when —
a. Only there is a relative motion between two bodies
b. Only the body is at rest on a rough surface
c. A body slides over another or tends to do so
d. Normal reaction is zero
Ans: c. A body slides over another or tends to do so
4. If f; is the static frictional force between two bodies and fj is kinetic frictional force between same bodies, then —
fs > fi always
b. f, < fi always
c. f; = f always
d. None of these
Ans: d. None of these
5. If fiax = the maximum static frictional force between two bodies and f;, = the kinetic frictional force between
same bodies, then —
fmax = fk always
b fmax < Jr
C. fmax > fr always
d. None of these
ANS: C. fnax > fr always
6. The unit of coefficient of static friction is —

o

b

a. N/m?

b. N-m?

c. N/m

d. Itisunitless.

Ans: d. It is unit less.



10.

11.

12.

13.

If a body is placed on a rough horizontal surface and the whole system is taken to a gravity free place. If now the
body slides over the surface there, then —
a. There will be no friction
b. There will be a finite friction
c. It depends upon the nature of the bodies
d. Cannot be predicted
Ans: a. There will be no friction
A block of mass 5kg is kept on a rough horizontal surface. What will be the frictional force if a horizontal force
of magnitude 36N is applied on the body ? (u;, = 0.8, u; = 0.7,g = 10m/s?)

a. 40N
b. 35N
c. 36N
d. ON
Ans: c. 36N

In the above problem, what should be the force needed to displace the block if initially the body is at rest?
a. 40N

b. 35N
c. 50N
d ON
Ans: a. 40 N
In Q-7, what is the frictional force when the body will be in motion?
a. 40N
b. 35N
c. 50N
d ON
Ans: b.35N
A block of mass 8kg is kept on a rough horizontal surface. What will be the frictional force if a horizontal force
of magnitude 65 N is applied on the block ? (i, = 0.8, u; = 0.7,g = 10m/s?)
a. 65N
b. 64N
c. 56N
d 9N
Ans: c.56 N
In the above case, what will be the acceleration of the body ?
a. 9m/s?
b. 8m/s?
C. Z m/s?
d. Zero

Ans: c.g m/s?
In Q-11, if a horizontal force of magnitude 64 N is applied on the body, then the net force on the block and its
acceleration will be —
a. ONand 0m/s?
b. 9Nand: m/s?
c. 9Nand 0m/s?
d. None of these
Ans:a.0Nand 0m/s?.



14. When a horizontal force of 45N is applied on a body kept on a rough horizontal plane, it is seen that, the
acceleration of the body is 3 m/s?. If the mass of the body is 5kg, then what will be the coefficient of kinetic
friction of the system?

a. 08
b. 0.7
c. 06
d 05
Ans: c. 0.6
15. In the above problem, what can we predict about the coefficient of static friction of the system ?
a. ug =0.99
b. us,>09
c. u;, =09
d u, <09
Ans: d. u; < 0.9
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